
Netti 4 U CED/S / BASE 
 

Mounting description – Seat width-extension kit 25 mm 

 

Alu Rehab – Netti 4U CED/BASE – Mounting description- SW-Extension kit 25 mm- 2017-01-MD0129UK 

 
 

Please check if you have received all of the following parts before starting with the alterations. 

 

This mounting description is valid for extension kit 25 mm for a Netti 4U comfort CED and CEDS 

 

 
 
 
 

2 X spacer for arm rest locking bracket 25 mm 

 
 
 

6 X M5 x 37 screws  

 
2 X M8 x 55 screws  

 
 
 

2 X nylon washer 

 
 
 
 

2 X extra washer 25 mm  

 
 
 

2 X nut M8 

 
 
 

2 X nut M10 nut with groove  

 
2 X M10 x 40 button head screws for CED = long version (SD 42,5 – 50,0 cm) 

 
2 X Socket set screw M10 x 30 for CEDS = CED in short version (SD 37,5 – 45,0 cm) 

 

 

 

 

 

     Complete kit  

 

 

 

 

 

 

 

Next couple pages will give you the detailed instructions of the alterations. 



Netti 4 U CED/S / BASE 
 

Mounting description – Seat width-extension kit 25 mm 

 

Alu Rehab – Netti 4U CED/BASE – Mounting description- SW-Extension kit 25 mm- 2017-01-MD0129UK 

 
 

 

The following instructions are for the left side. The steps for the right side are identical. 

 

 

1. Untighten the nut with groove on the backrest 

bracket with a wrench and unscrew it with an Allen key.  

Now press the red armrest locking mechanism handle at 

the front of the arm rest and lift the armrest slowly 

upwards.  The nylon washer can be removed now. 

(Picture 1 + 2). 

 

 

 

 

2. Please remove the 3 screws of the arm rest  

locking bracket with an Allen key and lay 

the bracket aside. (Picture 3). 

 

 

 

 

3. Now take the new spacer and 3 of the M5 x 37  

screws. Plug the 3 screws into the arm rest  

locking bracket and spacer. Fix the screws with 

an Allen key into the thread of the frame tube. 

(Picture 4). 

 

 

4. Now mount the wider M10 nut with groove and the  

M10 x 40 button head screw for a CED or the M10 X 30  

Socket set screw for a CEDS to the backrest bracket  

with a 19 mm wrench and Allan key. 

Please note that the M10 nut with groove must be glued  

with Loctite again.   (Picture 5 + 6) 

 

 

 

 

 

 

 

 

 

Picture 3 

Picture 5 

Picture 1 

Picture 4 

Picture 6 

Picture 2 



Netti 4 U CED/S / BASE 
 

Mounting description – Seat width-extension kit 25 mm 

 

Alu Rehab – Netti 4U CED/BASE – Mounting description- SW-Extension kit 25 mm- 2017-01-MD0129UK 

 
 

 

 

5. In the next step please mount the extra spacer  

with the long M8 x 55 screw. 

Please note to add the nylon washer before you  

plug the screw into the extra washer and backrest bracket. 

Now add the M8 nut and tight it firmly.  

(Picture 7)  

 

 

 

 

 

 

 

 

 

Swing the armrest forward and check if it  

locks correctly and is tight. 

 

6. After you have added the spacer you need to adjust the main wheel bushings 

to get the main wheels more out. 

To avoid contact of wheel and arm rest 

the space between arm rest and wheel 

should have minimum 20 mm. 

 

 

  

 

 

 

 

7. Finally you have to adjust the brakes on both side to get the brake bolt touching the main wheel 

properly right in the middle.  

 

 
 

You can find this manual also on our web page: 

http://www.my-netti.com/downloads/manuals 
               

 

Feel free to contact us if you have further questions. 

 

 

Picture 7 

http://www.my-netti.com/downloads/manuals

